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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 4th Semester Examination, 2023

ECOACOR10T-Economics (CC10)

STATISTICAL METHODS FOR ECONOMICS-II

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. 2N AT TIZ TG el e wed 1
Candidates should answer in their own words AN [T 1T I TG TN TG
and adhere to the word limit as practicable. GeT PRI

All symbols are of usual significance.

1. Answer any five questions from the following: ' 2x5=10
e @-Ic #Hi5fs evam Beawies '
(a) If two events 4 and B are independent then show that 4° and B° are also independent.
T 4 ¢R B 0 T W6l W OR® (RS @ 4° 4R B 758 F Toat1

(b) A subcommittee of 6 members is to be formed out of a group of 7 males and 4
females. What is the probability that the subcommittee will have 2 female members?

7 G S '8 4 T WREN G T (T 6 TMETD TARRIS 910 Tt 711 Somfifere
2 i XA AP ASRA O 9

(c) Define Probability Mass Function.
FERA! S S TR 7G| ‘

(d) Show that a Standard Normal Variable has zero mean and standard deviation unity.
T8 (9B A I HER G 4 IR T3 AL 6T |

(e) What is SRSWOR?
SRSWOR 3e1te & @it 9

(f) Let X and Y are two jointly distributed random variables. State the condition for
their Independence.

M X IR Y 0 AR e Apies vaie 231 O Ot TR 9 26 & 2
(g) Define unbiasedness of an estimator.
(I 2F-IETFA (estimator) ‘unbiasedness’ IS fF QI ¢

(h) If the Standard error of sample mean for SRSWR is twice that for SRSWOR,
show that 4n=3N +1 where n = sample size, N = population size.

It THISGT SRSWR’ -3 (FGa (3 T (standard error) ©f SRSWOR’-3 CFL
@ ANIANE O R W O@ &4Md I 4n=3N+1, @A n = TR AT,
N = F%&F (population) F¥&
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2. Answer any four questions from the following:

R @-@ bIEle otk Tea miss

(a) Set up a sample space for the single toss of a pair of fair dice. From the sample
space determine the probability that the sum of points is either 7 or 11.

GFEIG! B! G B T codt sample space-B (are) @ sample space CqTF
7t T point™ CEAIFE 7 WLA 11 [ FWIFA F© 2

(b) The height distribution of adult males of a certain race has mean 165 cm and
standard deviation 6 cm. Find the probability for an adult male to have height
below 158 cm, above 175 cm and between 150 cm and 180 cm.

[Given ®(1.167)=0.8784, @ (1.667)=0.9522, @ (2.5)=0.99379]

2T I G THeiR AT 98 165 em G IS AR 6 cm | MTT
R Tl 158 cm-a A, 175 cm-3 TAE @R 150 cm € 180 cm-9F W
37 FerRreaf B @t

[Creat =g @ (1.167)=0.8784, @ (1.667)=0.9522, ®(2.5)=0.99379]
(c) Show that Poisson distribution is a limiting form of Binomial distribution.
w8 (@ o T fasiw i qf A o)
(d) Discuss the advantages of random sampling over lottery method.
IR efRFRiE gereE IS Tl 53 2lfE R SEn FEn

(€) If T\, T, and T3 are independent unbiased estimators of & and respective
variances of them are in the ratio 1:2:1. Which of the following estimators of 4

would you prefer?
L+T, L+5+T 2G+T+T,
2 3 7 4

T, T, 9R'1D1-; ¥ 3 o4 /S 8 unbiased AIFIEF (estimator)! SiwR
variance-3 S 1:2:11 SIH A2 973 foalt 2iFIeT (estimator)-q W
BT QN “I% (prefer) I 2
L+T, L+TL+T, 2L+T,+7
2 3 7 4

(f) Explain the method of Maximum Likelihood for estimating unknown parameter
of population.
AT &Il parameter estimate FIF & ‘Maximum Likelihood’ S P
@

3. Answer any fwo questions from the following:
e @i 7fo evie Tea we:

(@) (i) A man draws two balls from a bag containing 4 white and 6 black balls. If he
is to receive Rs. 9 for every white balls and Rs. 6 for every black balls which
he draws, then what is his expected gain?
3B ! 4 B A 4R 6 B I W A=) GFE @ I @6F 2 B @ g
frwe 3991 A @ I Al A 39 o oo 9 DIt u AR e 3o
(ST T 6 BIF #iR1 BT @ JfET e e 7 ¢
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(i)

(b)

(i)

(iii)

© ®

(i)

(@ @

4111

(i)

State and prove “the theorem of total probability” for mutually exclusive
events. What will be the result when the events are not mutually exclusive?

oo e 9BIF Cea SRR TR Raas Seiimfe Rige ¢ e szm 3l
o1 o Rika i =7 o Fees I 9

Find mean and variance of Poisson distribution.

Poisson ReEt 516 @ (v 7 et

Arithmetic mean and standard deviation of a Binomial distribution are 4 and
1/8/3 respectively. Find the number of observations and probability of

SUCCess.

oS v RO 7S 6 (SRl WITFH 4 GR ,f8/3 | (G AR RYl
ArECeTa TSR e el

State two real life situations where a variable follows Binomial distribution.
fvin Relet@ 7o AT {2IE WS

Briefly discuss principal steps in sample survey.

ARG 2SR 1 Aefe FRTFA ScEsal F

X and Y are two random variables having the joint probability distribution as
given below. Calculate p,, . p,, = correlation coefficient between Xand Y.

¥ @R Y 75 TPIed b [k T wewel Frem fen o, el wem
Py =X 8 Y-8 TG TS TR

AT O 1 2
0 0.1 ] 01|01
1 01]02] 0.1
2 0.1 0101

Distinguish between “Point estimation” and “Interval estimation”.
“Point estimation” 4 “Interval estimation”-% Y AT I

The marks obtained by 17 candidates in an examination have a mean 57 and
a variance 64. Find 99% confidence interval for population mean of marks,
assuming it to be Normal. For 16 degrees of freedom P(|¢|>2.9)=0.01.

17 & AT 2 TIE MG 57 GR Variance 64 | TG WP S ¢
2lie} WHCET FNEF NGH 99% confidence limit FfT T

oreT SR P(|1]>2.9)=0.01, T4 degrees of freedom 161

1+3+1
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 4th Semester Examination, 2023

ECOACORO9T-EcoNoMIcs (CC9)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. 2NfEF T TIZ UG ’2"737/7 i a1
Candidates should answer in their own words I AT YT T TSI AN TG
and adhere to the word limit as practicable. 0o IR
1. Answer any five questions from the following: 2x5=10
fREfRe @-cit Ai5fs aivsm Seg wies

(a) What is meant by convergence?

wiftles Aiaa SPIRY =0 & QIR 2

(b) What is meant by ‘Warranted Rate of Growth’ in Harrod’s growth model?
Ziares AF S Raas eftsrs s aeife g9 e B @t 2
(c) What is meant by intertemporal choice?
SRR 5T I F @A 9
(d) What is inventory investment?
e R FitE 3 9
(e) What is adaptive expectation?
SN A 9
(f) What is fixed accelerator?
PR I I 2
(g) What is meant by ‘risk aversion’ in portfolio decision?
(h) What was the doctrine of ‘Mercantilism’?

“Aoifere (IAferam)’ weld & e 9

2. Answer any four questions from the following: 5x4 =20

faafRe @-GI! 51916 @t Sag wies

(a) Explain how investment decision is made using ‘Tobin’s q’.
BReR-q° I I el [ Fae @en qrs #iE 92
(b) How rational expectations implies that consumption follows a random walk?

I eyt el corsr wivafie semee efofe ot ¢
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(c) What are the features of endogenous growth models?

wifde Afar ‘areiteiT wg ek /e
(d) How a rise in rate of interest may influence intertemporal consumption decisions?
(e) What is ‘Policy-Ineffectiveness Proposition’ of the New Classical School?

T el ©rg Alfen FFIReRors a8iEin & 9

(f) Explain how individual speculative demand for money function can be a ‘step
function’.

g IS FiHdE-re biiRnt @ Feim 9 b 4ol TS 20O 2@ T I

3. Answer any fwo questions from the following: 10x2=20
fr=fERe -t 15 ovs Tea wes
(a) Explain how money can be treated as an inventory to show that transaction 8+2

demand for money has interest sensitivity. How the transaction balance is
affected by a rise in rate of interest?

afefe Tt @re AIw T IR TR W I e RoiR el Eee sikw
Aoifo 7 9
(b) How does ‘Permanent Income Hypothesis® explain the short-run variability and 8+2

the long run constancy of average propensity to consume? In what way this
hypothesis differs from Life Cycle Hypothesis?

NG (Ol eRor THFIA “ffiSTeTel 8 R e 2R Wi afvsms
ARG oI iy $31 W 2 S0 ARSI X @ A [ 9

(c) How do the New Keynesian macro-economists explain that the wages and prices
are not flexible in the short-run?

Tt PETA wdRfeRwat o Tt TR @ FHIE TG 6 wieR B A 9

(d) What do you mean by Golden Rule Level of capital accumulation in the Solow 4+6
growth model? Describe the condition that describes the golden rule.

Gt Taam woecs e @i wffe faw e & @Il ¢ 9% Faw frei
SR ok

X
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 4th Semester Examination, 2023

ECOACOROST-EcoNoMIcs (CCS)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. 28 T TIZ RGING 2P ™ Pe 1
Candidates should answer in their own words ARG [Fee SIT TR TSI 7N TG
and adhere to the word limit as practicable. &eg TR

All symbols are of usual significance.

1. Answer any five questions from the following: _ 2x5=10
eERe G-It <56 eviz Teawes

(a) What is mixed strategy?
i e R 9

(b) Find the Nash equilibrium of the following game —
RS welb e i ey e sl

: Player 2
L R

Player1 | T | (3,3) | (2,4)

Bj{@&2)1|(1,1)
(The first entry with brackets is the pay off of Player 1)
(TT e RGP for e eifSraiiia et e Fag)

(c) What do you mean by welfare economics?
TR LA IS R QM 9

(d) Mention conditions of market failure in relation to public good.
R AT (LT e fora 1Sl Sra et

(e) What is free rider problem?
Rt wiey 7=y cotea e & 9

(f) What is conjectural behaviour?
ST o R 9

(g) Define monopsony.
CEAIHfg TR e |

(h) Let 0=12L—1I? be the production function. Price of 0 is Rs. 10 per unit.
Derive the equation of the VMP; curve.

@ IT Q=121 - [} T TeoA SIS | Q WA N 10 B &S T8 Ymp,
@R A7 e e
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2. Answer any four questions from the following: 5x4 =20
fafRe Q- 51afd aia e wes

(a) Prisoner’s dilemma is an example of non-cooperative game — Explain.
‘Prisoner’s dilemma’ SPTEAIN (YA <10 Bwigael — YT el

(b) Describe the conditions of exchange efficiency in a two-person-two-good
model.

W8-I 1e-12-73) WLt KT wiror 1 3t F@t
(c) What is externality? Give an example of one positive externality in production.
RS P =T 2 TRAMAA CHT ST LA AT Tzl wia |
(d) Why the supply curve of labour is backward bending?
AT QI G PR feie el = (e
(e) State the assumptions of the Cournot’s model.
I et S a3t

(f) Why does the market demand curve for a variable factor usually differ from the
horizontal summation of individual demand curves?

@I RETNE SAMTR IS SitW @l AYiETe Sestva afttinelm siftwt
RIFANFA AN — @ P

3. Answer any fwo questions from the following: 10x2=20
frafRe @-@ie §f5 2ess Teawss
(a) ‘Rent is not the income of a specific factor of production’ — Explain.
et @I 936 ReIT TR Bt (e e SR 78 — JIOT SN

(b) Derive the firm’s demand curve for a variable factor when several variable
factors are used in the production in a competitive set up.

*f afSrerER 72T 93 FICR P 3B ARIETNE ToAmI SR Gt
7 S AT e e GRS ARRSTRe Brimie I3ge TR

(c) Do you agree with the statement that °.... if all the markets in an economy are
perfectly competitive, Pareto efficiency will automatically be reached’ — Give
reasons.

ot & W e ..., I SRR s e o afbraierTen 2@ oot
TS| TO PO e T 7T ? — (SR OIS 76|

(d) In a duopoly, let the cost functions of the firms are ¢, =300, and ¢, =30Q,
respectively. Price in the market is determined by the following demand
equations:

P=150-0Q,where =0, +0,.

Find that the firm 1 will be benefitted relative to firm 2 by taking decisions first.
@ AT < G A I TT @R AN WFW ¢, =300, 9R
¢, =300, | R i e s AN wi e @ —

P=150-Q, @A Q0=0,+0, |
S (@ 2w TS st e e getpRreiE @R sl 2@ |

X.
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WEST BENGAL STATE UNIVERSITY

B.A./B.Sc. Honours/Programme 4th Semester Examination, 2023

ECOHGECO04T/ECOGCORO04T-EcoNoMICS (GE4/DSC4)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. e NI 7GZ RYNG 7‘75717)' et w31
Candidates should answer in their own words AN [0 ST I TS RN T
and adhere to the word limit as practicable. Be7 R
1. Answer any six questions from the following: 2x6=12
el Q-iat g7fe e Tea es
(a) What is the difference between Primary sector and Secondary sector in Indian
agriculture?

SROR FRTFE ‘ARBT va’ 8 NgF e sl & 2

(b) What do you mean by land reform and tenancy reform?
il I 8 YWY TR o &F QRN 2

(c) Mention four features of underdevelopment economy.
e SIIEE b e Brae vt

(d) What is minimum support price of agricultural goods?
PRACATA oo FYTF 37 I I 9

(e) Mention two limitations of introducing new agricultural strategy in India.
IS NG TR FE eRST 7o Azt Teard Tl

(f) What do you mean by population density? What is the population density in India?
GG IO 1 @I 2 SRS TG T P

(g) Mention two causes of income inequality distribution in India.
SIATS W B0 LR 4 el ST A

(h) What is trade union?
=3 Y Fo00 & Q@RI 9

(i) What is the contribution of service sector in national income of India at present?
TS SIS SIS WA G CHCIF I TS ?

2. Answer any fwo questions from the following: 4x2=8
e Q- 7f6 et Teg wae

(a) Discuss some social security measures adopted by the government of India for
industrial labourers.

IS TIR IS RS Tt affierra o= FaivienETs I8 T20E SEsal Fi|
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(b) Write a note on functions of RBI.
oior fHee ites srfice M «3f Bt @i

(c) Comment on the Public Distribution System of food grains in India.
SIACS AHETA IR ARBT I ToF T FEM|

(d) Discuss briefly the weaknesses of trade union movement in India.
SRS #fiF IRY QI [EeTOseT TRTFo! SNEval IR

3. Answer any three questions from the following: 10x3 =30

f=fERe @-@iEt foafb aria Seg wes

(a) What are some of the changes in Indian structural distribution of National Income
in recent years?

(b) Discuss various policies taken by the Government of India to control population
growth.

Ol HER SR i R (@ 3R RS &z FERA ©f SiEsal I

(c¢) Explain what is meant by RBI’s monetary policy.
e fies it e WS wewe & @i 2

. (d) Write a note on the relationship between population and development in a country
like India.

SIS 00! G B (R FMACE SR 8 SR T 371 Fea Bt et
(e) Discuss the different measures adopted by Government of India to eradicate
poverty during the plan-period.

IR TG M

(f) What is the problem of low productivity in agriculture? Prescribe steps to
overcome this in Indian context.

TRt 79 TBeriwaAierora A & ¢ ©Rred fte @3 WENIR SN Roiw
ARCEA AR SR

4210 2



